MBFM 3005

M.B.A. DEGREE EXAMINATION, JUNE 2014.
Third Semester |
Finance
MANAGEMENT ACCOUNTING
(2012-13 Batch onwards)

Time : Three hours Maximum : 100 marks

SECTION A — (5 x 6 = 30 marks)
Answer any FIVE questions.

1. What are the objectives of management

accounting?
2. State the different types of responsibility centres.
3. From the following information, compute :

(a) Material price variance

~
c)
et

Material quantity variance and

(c) Material mix variance.
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Balance sheet

Liabilities 1994 1995 Assets 1994 1995
Equity capital 3,00,000 * 3,50,000 Fixed assets 5,10,000  6,20,000
Preference Investments 30,000 80,000
capital Nco.ooo 1,00,000 Current assets 2,40,000 .w,qm_coo
Debentures 1,00,000 2,00,000 Discount on issue
Profit loss a/c  1,10,000 2,70,000 of debentures 10,000 5,000
Reserve for
bad debts 10,000 15,000
Current
liabilities 70,000  1,45,000

16.

17.

7,90,000 10,80,000 7,90,000 10,80,000

You are informed that during the year

(a) - A machine costing Rs. 70,000/- (Book value
Rs. 40,000) was disposed off for Rs. 25,000/-

(b) Preference shares were redeemed at a
premium of 5%

(¢) Dividend at 15% was paid on equity for the
previous year.

Explain the different Bommm of reporting.
SECTION C — (1 x 20 = 20 marks)
OoB@Eon

A Radio manufacturing company finds that while
it cots Rs. 6.25 to make a component, the same is
available at market for 5.75 with an assurance of
continued supply. The break even cost is
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q.

8.

10.

Calculate cash lost in operations from the

following :
Rs.
Net loss after adjustment 1,40,000
Depreciation 32,000
Huwm:BEmQ mxcosmmm. written off 10,000
Good will Xigmb off 12,000
Provision for doubtful debts 8,000
Commission accrued 16,000
Dividend received 26,000
Loss on sales machinery 12,000

Briefly explain the objects of reporting.
SECTION B — (5 x 10 = 50 marks)
Answer any FIVE questions.

Differentiate financial
management accounting.

accounting from

Enumerate the various methods of inter-company
transfer pricing.
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